
Calculators Allowed
1. C   2. B
3. a) P(t) = 30e0.116t b) 170
4. 94.829 hrs. 5. a) 72 b) .354
6. i. ∞ ii. 2 iii. 1 iv. -∞ v. 1



No Calculators
1. D  2. 𝑓𝑓 ∘ 𝑔𝑔 𝑥𝑥 = −2

𝑥𝑥
3. -5 4. 1

5. 𝑆𝑆 𝑥𝑥 = 𝑥𝑥2 + 28
𝑥𝑥

6. a) 9999 b) ln 5+1
ln 2−1

c) 1
4

7. a) y = 1 b) x = 3 c) −1, 1
2

8. − 3
2

9. ln 16
𝑥𝑥+4 ⁄2 3 10. -2

11. a) vert. asympt. of x = 7
b) funct. is cont. at x = 7
c) horiz. asympt. of y = 7

12.  f (2) = 1 13. c = 6 14. e
15. a) 2.62 b) removable discont. because lim

𝑥𝑥→1
𝑓𝑓 𝑥𝑥 is finite
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